RIGHER

o AbryEf
FE FHE R g SosE | oo ouwks |
- B/ AT

1 NG LIVAVEL: $22 5%25 500 0.2
2 NG LIVAvEL: $22 8425 400 0. 66
3 NI IS i 22 8%30 100 0. 77
4 NI IS i 22 10%30 200 0.8
5 NI IS i 22 1040 100 0. 88
6 AN ENIE T M4 1000 0. 05
7 AN ENIR T M5 1000 0. 08
8 AN ENR I M6 1000 0.2
9 AN R M8 1000 0. 28
10 AN R M10 800 0. 4
11 AN R M12 250 0.6
12 AN R M16 125 1.08
13 AN R M20 65 2.3
14 ANEFAN SRR M5 1000 0. 04
15 ANFAR R M6 1000 0. 06
16 ANEF R M8 200 0.1
17 ANFHNF- M5 1000 0. 06
18 ANFHN- M6 1000 0.12
19 ANFHN- M8 200 0.15
20 ANFHN- M10 200 0. 20
21 AN M12 200 0. 25
22 N N M6 200 0.18
23 N N M8 200 0. 30
24 N N M10 200 0.7
25 N N M12 200 1.2
26 N N M16 100 2.5
27 NS AN 22 630 400 0. 22
28 N 7S AN 22 8100 100 1
29 PR N R R M16 125 1
30 PR N R R )20 65 2.85
31 PR N R R M24 35 3.2
32 PR IR IR B M30 50 7.35
33 PR IR B M33 50 6. 00
34 A2 1N SV M30x70x5mm 100 2. 86
35 A2 1N SV M33x70x5mm 100 3.22
36 A2 1N SV M16x50x3mm 200 1.2
37 e )l Yo M20x60x4mm 100

38 e ) N Yo M24x70x5mm 100




39 PP D16 200 0.33

40 PR OIR 22 M12%100 100 2.2

41 PR R IR 22 M16+%120 100 2.7

42 A e i 1 JG16-10 200 1.3

43 e 2R v ¥ JG625-10 200 1.77

44 i 2R v ¥ JG35-10 200 2.18

45 i 2R v ¥ 0T16-10 200 1.3

46 i e 4 ity 1 0T6-4 1000 0.5

47 Lok GT-G-16 20 2.5

48 k=g GT-G-25 20 2.8

49 E ook GT-G-35 20 4

50 E ook GT-G-50 20 5.0

51 NG ISPV $22 5420 400 0. 28

52 ANEFAN N LR 22 5425 400 0. 28

53 ANEFAN N LR 22 5%40 400 0. 35

54 AN B 22 4%30 400 0.19

55 AN E BUR 22 4x25 1000 0.16

56 AN B B 22 4x16 1000 0.13

57 AN E BUR 22 4. 8x40 500 0. 32

58 AN E BUR 22 4. 8x30 500 0.3

59 AN H B 22 4. 8x25 500 0. 28

60 AN B 22 4x20 1000 0.25

61 ANEEN LR 22 GB12-76M6 500 0.3

62 K Sk B Bz 22 4x16 1000 0.15

63 K Sk B Bz 22 4. 8x38 500 0. 4

64 K Sk B Bz 22 4. 8x50 500 0. 48

65 ANEFN Bz 22 4. 8x80 200 1

66 304 ANEEANF 5% M8 1k 15

67 304 BT 4% M10 1K 20

68 ANEFANE 22 5 ) M6 200 0.25

69 ANEFANTE L R R M8 200 0.5

70 ANFHN e M5 200 0.12

71 ANFHN e M6 200 0.2

72 ANFHN e M8 200 0.3

73 4%4 14N PAEEE 6 K /1R 1 150 FEARAR MY
74 5%5 ffI4N PAEEE 6 K /1R 1 180 FEARAR MY
75 8 S HHEN EEEE 6 K 1 360 FEARAR MY
76 10 FE4N PERE 6 0K 1 450 FEARAR MY
77 Jii4k 4x25mm EEEE 6 K 1 80 FEARAR MY
78 304 AN EL T 150mm 100 1.2

79 304 ANEEARELHY 200mm 100 1.3

80 304 AN EL Y 250mm 100 1.4

81 304 AN EL Y 300mm 100 1.5




82 304 AN EN i i 52-76mm 100 1.5
83 304 ANEE AN G4 289-311mm 1 8
84 304 NEENW R ®12 100 0.8
85 304 AENG 16 100 0.9
86 304 NEEN R ®20 100 1
87 304 NEEN E R 25 100 1.2
88 304 NEENG R @32 100 1.3
89 Br K He 4k 7 200%100x70mm 1 100
90 BNE T D25 YEEE 100 10. 6
91 AN FE Sk 16mm 100 30
92 ANEFANEE ek 20mm 100 35
93 ANEFANERE ek 25mm 100 38
94 AO PR RA R ®25 1 40
95 AN K 02 22 M6x60 120 1. 35
96 ANEFNI K iR e M6x80 100 1.6
97 ANEFANI K iR e M8x60 100 1.8
98 ANFAR K iR e M8%80 100 2.53
99 ANEF AN 3 A M10x80 100 3.8
100 ANFAR K iR e M12x100 80 5. 00
101 DN20 #A A £ AN B3k 6 K/ 1 110 AR
102 DN25 FAHE LN (k) 6 K/ 1 165 FEARARAN
103 DN32 AN (FHk) 6 K/ 1 208 FEARARAN
104 DNA0O #A% Br AN CEED 6 K/ 1 256 FEARAR MY
105 DN50 #A% Br AN CEED 6 K/ 1 320 FEARAR MY
106 | 304 ANEEMNEEHE ®13/m 1 12
107 | 304 A& R E ®16/m 1 13
108 | 304 A& R E ®20/m 1 14.4
109 | 304 ANEMERHE ®25/m 1 18
. ;*f’f;f’ N ! 8IE/AR | ARG
110 M HH 4 By itk
22, 24, 26, 28, 30, 35 1 18 Jt/ AT 208 A
—HRAEAH
111 086 /N 1 22
112 L 7% 2 A Al 1 25
113 Wf%ﬂj& (P 150mm#*350mm 1 78
7))
114 Wf%ﬂj& (P 10mm+410mm 1 72
7))
FOGH G (el
115 1060 1) 1 60
116 | ANFEHIS % EIR 22 4. 2%16 500 0.15
117 | ANFHIS 5 RIR 22 4. 8x32 500 0. 28




BN fh el R IR 2L

118 110 5. 5x25 500 0.3
oA =3
119 i Tfﬁoﬁgﬁ Lt 1 120 JE B 1. 5mm
120 LR e 1 60 JEFE 1. 5mm
100%50
121 | #5547 50%50 IR 1 50 JEFE 1. Omm
122 | A 4&4%4E 100100 Bt 5 1 100 JEFE 1. 5mm
123 FRE 42l 100%50 B 5 2 55 JE B 1. 5mm
124 FRB 42l 50%50 | 2 30 JEFE 1. Omm
125 FRB 42l 50%30 i 2 25 JE R 1. Omm
126 FRA 42l 40x30 BT 2 20 JE R 1. Omm
127 FRA 42l 40x20 i 2 19 JE R 1. Omm
128 A& 4 30x20 L 2 20 JEFE 0. 8mm
129 R 42 20%10 L 2 18 JEFE 0. 8mm
130 b7 B T 2. 4 30cm K, 3mm 1 8.5
131 AEFN = fiR 22 M8x25 200 2.8
132 BRI T3 28 B NI 20
133 AN T3 48 B NI 35




